ol

=

0

F

=Kl

MEAHE 20229 18 122RH 202243 12&8 3120
AT 20214 18 122H 20213 122 312K
HAFSH ROt
SHSHol = (2022) RF I (20211)
el
F2DKHIE) @ 510 X KR 2ED| B 0
(100 %) (0 %)
797,501 797,501 0 202,499
ol 0 0 0 0
797,501 797,501 0 199,127
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
_ 0 0 0 0 0 0
C,OH/\I.XII-iHI
0 0 0 0 0 0
0 0 0 7,500 0
2 0 0 0 0 0
o= 0 0 0 0 0
i 797,501 797,501 0 191,627 72,000
Hel==2h| 0 0 0 3,372 0
0 0 0 0 0 0
Al EHIHI 0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
EIIRE A 0 0 0 0 0 0
0 0 0 0 0 0
2t 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Atglaol Sok - - Sou
0 0
0 0
Bx3
0 0
ANBIARZ 0 0
0 0
w $=EH) 0 0
IJH KX
©=@-0® 797,501 202,499
|2t XiX ol(£2 )0l ZSAPDIX %S
SIH(Zn)
202214) RFOIE (2021)
O XNEZH=sn O N3N o2& 59,850 &
O NERLEY O Ngxe 59
=A =, Y&z U3 O 2H 2021
O JIEt: Bg& = 83 O JIEt: SESISM Eot 89 Zt
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[ etds SEAlL DI

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHALSHl 2D
HEA T (20224) AMAT(20214)
= - -
HElE) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (100 %)
A 2,000 2,000 0 1,960 1,960 0
jelbalsll 0 0 0 0 0 0
A 2,000 2,000 0 660 660 0
OIAHH| 0 0 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 2,000 2,000 0 660 660 0
HelZ 2| S22 | 0 0 0 0 0 0
A 0 0 0 1,000 1,000 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 0 0 0 1,000 1,000 0
A 0 0 0 300 300 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 300 300 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® Soy - - Soy -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
) 2,000 1,960
¥ SEDZ XA E RXISHH AP (22) D0l ZSHAIDIX 22
SIH(Z)
SO = (20201 RO (20214)
O JIEt: O JIE}:




A2HE S| ULIsEA

[ MetEE SEA, sZEF3]

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHAFSH 20t (9] =)
HEA T (20224) AMAT(2021H)
= - -
HElE) @ - X R ~e|B - TIXHA ~e|
(100 %) (0 %) (0 %) (100 %)
A 3,000 3,000 0 2,700 0 2,700
jelbalsll 0 0 0 0 0 0
A 3,000 3,000 0 2,700 0 2,700
OIAHH]| 0 0 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 3,000 3,000 0 2,700 0 2,700
HelZ 2| S22 | 0 0 0 0 0 0
A 0 0 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 0 0 0 0 0 0
A 0 0 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® S . . 2o - -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
MEIARS } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
©=@) @ 3,000 2,700

© SED2 NHSLE UXIEH Atg2(=2) D0l ZEADIX ES

oHE e = (2022H)

A MAHE(2021H)

O XNsgnua=sd

O Jlgt:

3,000 &

O XNSgnuaEsd

O Jlet:

2,700 &
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SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
L] HARSH R0}
HEA T (20224) AMAT(20214)
=2 = — _
S2HHI8) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (100 %)
A 624,843 624,843 0 323,185 323,185 0
jelbalsll 42,620 42,620 0 0 0 0
A 582,223 582,223 0 323,185 323,185 0
OIAHH]| 0 0 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 214 214 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 582,009 582,009 0 323,185 323,185 0
HelZ 2| S22 | 0 0 0 0 0 0
A 0 0 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 0 0 0 0 0 0
A 0 0 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® Soy - - Soy -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
©=@) @ 624,843 323,185
K SEDIZ A2 AXISH Alaol(2o) b= ZRASIX S
mE=nie<n)
SO = (20201 RO (20214)
(@IPNE:R=)S E=x=3]; 624,843 HA O XNEHMI=2s0 @ 323,185 A&
O JIEt: O JIEt:
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[ HtEE SEA, SEL

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHALSHl 2D
HEA T (20224) AMAT(20214)
=9 = = —
S2HHI8) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (100 %)
A 190,817 190,817 0 78,000 78,000 0
jelbalsll 9,058, 9,058 0 0 0 0
A 159,016 159,016 0 60,000 60,000 0
OIAHH]| 0 0 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 159,016 159,016 0 60,000 60,000 0
HelZ 2| S22 | 0 0 0 0 0 0
A 22,743 22,743 0 18,000 18,000 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 22,743 22,743 0 18,000 18,000 0
A 0 0 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® S . . 2o -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
©=@) @ 190,817 78,000
K SEDIZ A2 AXISH Alaol(2o) b= ZRASIX S
SIH(Z)
SO = (20201 RO (20214)
O XNEFMIlEE2 © 190,817 &€ O XNeFm2sd @0 0 &
O JIEt: O JIEt:
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[ MetEE SEAl, 2301 ]

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SARERI 20} (@51« @)
HEA T (20224) AMAT(20214)
= - -
HElE) @ - X R ~e|B - TIXHA ~e|
(100 %) (0 %) (0 %) (100 %)
A 31,000 31,000 0 31,000 0 31,000
jelbalsll 18,600 18,600 0 0 0 0
A 6,590 6,590 0 31,000 0 31,000
OIAHH]| 1,837 1,837 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 2,015 2,015 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-iHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 2,739 2,739 0 31,000 0 31,000
HelZ 2| S22 | 400 400 0 0 0 0
A 2,340 2,340 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 2,340 2,340 0 0 0 0
A 3,069 3,069 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 3,069 3,069 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® S . . 2o . -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
MEIARS } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
©=@) @ 31,000 31,000
¥ SEDZ XA E RXISHH AP (22) D0l ZSHAIDIX 22
mE=nie<n)
SO = (20201 RO (20214)
O NSZAMLD25D : 31,000 M O NAZAML2ED : 31,000 2
O JIEt: O JIEt:
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[ Hetde SEA

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHALSHl 2D
HEA T (20224) AMAT(20214)
= - -
HElE) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (0 %)
A 60,000 60,000 0 60,000 0
jelbalsll 32,605 32,605 0 0 0
A 5,145 5,145 0 60,000 0
OIAHH]| 1,050 1,050 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 499 499 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 3,596 3,596 0 60,000 0 60,000
HelZ 2| S22 | 0 0 0 0 0 0
A 22,250 22,250 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 22,250 22,250 0 0 0 0
A 0 0 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® Soy - - Soy -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
©=@) @ 60,000 60,000
¥ SEDZ XA E RXISHH AP (22) D0l ZSHAIDIX 22
SIH(Z)
SO = (20201 RO (20214)

O XNsgnua=sd
O Jlgt:

60,000 &&

O XNSgnuaEsd

O Jlet:

60,000 &
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[ MetEE SEAl, 2301 ]

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
HARSH 2Ot (9] M)
HEA T (20224) AMAT(2021H)
= - -
HElE) @ a1 X R ~e|B - TIXHA ~e|
(100 %) (0 %) (0 %) (100 %)
120,000 120,000 0 104,000 0 04,000
jelbalsll 64,468| 64,468 0 95,100 0 95,100
A 15,182 15,182 0 1,400 0 1,400
OIAHH]| 0 0 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 1,957 1,957 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 13,224 13,224 0 1,400 0 1,400
HelZ 2| S22 | 26,261 26,261 0 0 0 0
A 9,290 9,290 0 7,500 0 7,500
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 9,290 9,290 0 7,500 0 7,500
A 4,800 4,800 0 0 0 0
OIS AMH QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 4,800 4,800 0 0 0 0
2 AR 0 0 0 0 0 0
J 0 0 0 0 0 0
Argisel(2ol) ® o - - 3o - -
0 0
=2H| 0 0
2X2
=] 0 0
A2 40! 0 0
HelA23 }
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
©=@) @ 120,000 104,000
ZED|Z A2 RXISAH AP (2200l ZSHAIDIX 22
SIH(Z)
SO = (20201 RO (20214)

O XNsgnua=sd

O Jlgt:

120,000 & & O XNSgnuaEsd

O Jlet:

104,000 &&




SLIsHA QA
[ Melde SIA
SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHARSHI &t
HEHed & (202244) AMAT(2021H)
= O
S2KHI8) @ a1 XIXHA et - XX
(100 %) (0 %) (100 %)
9,000 0 50,000 50,000 0
jelbalsll 0 0 0 0
A 9,000 0 6,626 6,626 0
OIMH] 0 0 0 4,150 4,150 0
AP EH| 0 0 0 1,068 1,068 0
HAS2 0 0 0 1,408 1,408 0
_ B8= 0 0 0 0 0 0
BA=EH =Z&HH| 0 0 0 0 0 0
=2
I O] 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 9,000 9,000 0 0 0 0
HelZ 2| S22 | 0 0 0 1,695 1,695 0
A 0 0 0 0 0 0
A& EHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 0 0 0 0 0 0
A 0 0 0 35,820 35,820 0
A2 A QIBIZF Y| 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 35,820 35,820 0
2 AR 0 0 0 0 0 0
J 0 0 0 5,859 5,859 0
Argiael(22l) ® So - - oy -
0
Sx2 =2H| 0
AlEH| 0
Ans Agase 0
J|Et=2] 0
w =ED|Z AHIS=L 0
eRNTAE e 50,000
ZED|2 XIS RXISH AP =2 (=2 D0ll= ZSAIDIX &S
0 S22
N1 & (2022) X F QI (20211)

O XNsgnua=sd

O Jlgt:

9,000 &

O XNSgnuaEsd

O Jlet:

50,000 &




O Jlgt:

O Jlet:

O HI= (] =
LE0|LSHZ2LEZAI S
[ Hetee SiLA|,
o 20223 18 {L2H 2022 128 31X
A 202149 128 122H 20219 128 312X
ARSH &
HEA T (20224) AMAT(2021H)
=9 (= - -
S2HHI8) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (0 %)
A 15,500 15,500 0 0 0 0
jelbalsll 3,469 3,469 0 0 0 0
A 2,090 2,090 0 0 0 0
OIAHH]| 1,122 1,122 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 968 968 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 0 0 0 0 0 0
HelZ 2| S22 | 330 330 0 0 0 0
A 5 1,515 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 5 1,515 0 0 0 0
A 0 0 0 0 0 0
FRFE AHH| QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 8,096 8,096 0 0 0 0
Argisel(2ol) ® S . . 2o -
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
IHRIXISHA =52 EhoH)
) 15,500 0
2=E |2 XIMI£=22 AFXRISHH AFE 4= Ul ZEAIIIK LS
SuH(21)
SO = (20201 RO (20214)
(@IPNE:R=)S E=x=3]; 15,500 & & O XgZHIZ2s10 0 &
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0Pl EQRUI=EA

[ Hetde SEA

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHALSHl 2D
HEA T (20224) AMAT(2021H)
=2 = — _
S2HHI8) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (0 %)
5,000 5,000 0 0 0 0
jelbalsll 4,350 4,350 0 0 0 0
A 650 650 0 0 0 0
OIAHH]| 650 650 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 0 0 0 0 0 0
HelZ 2| S22 | 0 0 0 0 0 0
A 0 0 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 0 0 0 0 0 0
A 0 0 0 0 0 0
OIS AMH QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argisel(2ol) ® S0y - . So .
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
) 5,000 0
ZED|Z A2 RXISAH AP (2200l ZSHAIDIX 22
SuH(21)
SO = (20201 RO (20214)
(@IPNE:R=)S E=x=3]; 5,000 && O XgZHIZ2s10 0 &
O JIEt: O JIEt:
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SZ0=XI

[ Hetde SEA

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
SHALSHl 2D
HEA T (20224) AMAT(20214)
=2 = — _
S2HHI8) @ a1 X R ~e|B - TIXHA
(100 %) (0 %) (0 %)
A 16,000 16,000 0 0 0 0
jelbalsll 1,830 1,830 0 0 0 0
A 11,670 11,670 0 0 0 0
OIAHH]| 3,000 3,000 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 8,670 8,670 0 0 0 0
HelZ 2| S22 | 0 0 0 0 0 0
A 2,500 2,500 0 0 0 0
AlEEHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 2,500 2,500 0 0 0 0
A 0 0 0 0 0 0
FRFE AHH| QIBIZAE MY 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Aol (2el) ® 2o . . So .
Al 0 0
=2H| 0 0
2X2
=] 0 0
A2 40!
HelA23 } 0 0
J|Et=2] 0 0
 SED|2 TN 0 0
=2AJH KX EHH =8 SoH)
) 16,000 0
FEDIZ THALS TRISH AZaol(+o)bills ZEASIX 28
SIH(Z)
SO = (20201 RO (20214)
(@IPNE:R=)S E=x=3]; 16,000 & & O XgZHIZ2s10 0 &
O JIEt: O JIEt:
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SAe=MuFH

SHAFZHI SOt

[ Hetde SEA

HLOIE 202218 19 1UBE 2022 128 31LNK
o

20218 1€ 122H 20213 1238 3120

Sl = (2022) AMAT(2021H)
= O
S2KHI8) @ a1 XIXHA et - XX
(100 %) (0 %) (0 %)
15,000 15,000 0 0 0 0
jelbalsll 1,000 1,000 0 0 0 0
A 14,000 14,000 0 0 0 0
olMH| 0 0 0 0 0 0
AP EH| 0 0 0 0 0 0
HAS2 0 0 0 0 0 0
_ B8= 0 0 0 0 0 0
oOH/\I.XII-lHI =
S&| 0 0 0 0 0 0
I O] 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 14,000 14,000 0 0 0 0
HelZ 2| S22 | 0 0 0 0 0 0
A 0 0 0 0 0 0
A& EHIH] SHAFZEEA Al AH| 0 0 0 0 0 0
ex= 0 0 0 0 0 0
A 0 0 0 0 0 0
A2 A QIBIZF Y| 0 0 0 0 0 0
SHALAIH| 2 AM| 0 0 0 0 0 0
2 AR 0 0 0 0 0 0
JIEl 0 0 0 0 0 0
Argiael(22l) ® So . - oy -
Al 0 0
Sx2 =2H| 0 0
AlEH| 0 0
Ans Agase 0 0
J|Et=2] 0 0
x* EDIZ K= 0 0
HRHLH &=l 15,000 .
2=E |2 XIMI£=22 AFXRISHH AFE 4= Ul ZEAIIIK LS
SH(Z1)
N1 & (2022) X F QI (20211)
(@IPNE:R=)S E=x=3]; 15,000 && O XgZHIZ2s10 0 &3
O JIEt: O JIEt:
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[ HatEE =

0223 18 12RH 20224 128 312X

02149 128 122H 20219 128 312K
SHALSHl 2D
HEt = (20224 AMAT(20214)
z20HHIE - -
HElE) @ X R ~e|B - TIXHA
(100 %) (0 %) (0 %)
Al 8,100 0 8,100 0
jelbalsll 0 0 0 0
A 8,100 0 8,100 0
OIAHH]| 8,100 0 0 0 0
A2FH| 0 0 0 0 0
HAZ20= 0 0 0 0 0
_ g8 0 0 0 0 0
oOH/\I.XII-iHI —
E{s]] 0 0 0 0 0
I O] 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0
= HA2H| 0 0 0 0 0
Hl J|EIHAI2 Y| 0 0 8,100 0 8,100
HelZ 2| S22 | 0 0 0 0 0
A 0 0 0 0 0
A& EHIH] SHAFZEEA Al AH| 0 0 0 0 0
ex= 0 0 0 0 0
A 0 0 0 0 0
EOFAFE A QIBIZAE MY 0 0 0 0 0
SHAMAIH| 2 A 0 0 0 0 0
2 AR 0 0 0 0 0
JIEl 0 0 0 0 0
Argisel(2ol) ® - - Soy -
Al 0
=2H| 0
2X2
=] 0
A2 40! 0
MEIARS
J|Et=2] 0
w =ED|Z AHIS=L 0
=2AJH KX EHH =8 SoH)
C©=@-b 8,100
2=E|2 XM=l AFXKICHH At 2= Ul ZEAIIIK LS
O SIHZD)
SO = (20201 RO (20214)

O XNSgMu=a=sd - 8,10

O Jlgt:

O Jlet:

O XNgZMo=ssd @ 8,100 &
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[ MetEE SEAl, 2301 ]

SHEAHE 2022 1€ 1242H 2022 12&€ 31L)HAI
AMMAT 202139 18 1L2H 2021 128 31X
HARSH &It (9] M)
HEA T (20224) AMAT(2021H)
= - -
HElE) @ - X R ~e|B - TIXHA ~e|
(100 %) (0 %) (0 %) (100 %)
A 14,993 14,993 0 15,000 0 15,000
jelbalsll 1,500 1,500 0 0 0 0
A 5,498 5,498 0 15,000 0 15,000
OIAHH]| 0 0 0 0 0 0
A2FH| 0 0 0 0 0 0
HAZ20= 0 0 0 0 0 0
_ g8 0 0 0 0 0 0
oOH/\I.XII-lHI —
E{s]] 0 0 0 0 0 0
A IHEH| 0 0 0 0 0 0
=2 AHARE=KIH| 0 0 0 0 0 0
= HA2H| 0 0 0 0 0 0
Hl J|EIHAI2 Y| 5,498 5,498 0 15,000 0 15,000
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